518F

IS o

&

R

&

R

N I A A B

N I A LA LA BN NG B

&

- =518

e
vaafaly

’ \, LT ) FoL A BTV S, | W R L] R 3
N1 (63) gines el

ol ol (6 900

LEJSL."E‘ 3 \—!Lﬁ.nl.ﬁ."u .F,J.: \L!‘Jjg

332 gl i pilojles

vas JLu.: — ,Jéb :\.a.wHL! Mjlwujw lsl.ﬁsa)sa 59938 ug.o)T

_J

BB T 1 28wl Do LIAREN (PO ¥
e
W 5 jlad g oliad o iloiol olge ylaae
Spleio U | &ylesds 31 | e Slanr (siloeiel lgo oy
¥ ! ¥ (LT gl o canlSU) st g goguc b5 | )
a- ' Y. ol diald | Y
W a Y. Lot adds ¥
b A X (2o b)) ool (hudd pina oo | F
W 49 Y- (g i &
AT " Y- et bl | F
18- i3 Y. wrpes olusl, | ¥

251 (i 5 pad yge ] !

REITE ) E P O Pl PRI

gl g gy il e g b i il o o (sl T ot 0w i L ol g 5 o solnd neled (5138 100 3T 5 0 0 31 o (g oy ) g 3 g o it g S sl 3

R

>

R

>

8] 2 o] o

1VAQ | SR R R &

4

>

&

R




]| ;_jj-“)T &M.J.a- 3 Loods 148 sl aJJ.ﬁndJ .J.ld Js..l_‘.r i_ll.‘:-)m 39 Lal 3 lase i T pas s'.;h])-f u_a.lbslé -]

1y 895 Juduo 8 kouds ydge sl bolS BT L e PURL T 2 S PR — sl
T JpsS A5 g foi (oW lgew Az 80 g dolizeuwl oYl dude & 3559 & yl5 YL o gyaie dbgls 5yl L
el s U 1) pleligouly (ply 3 W15 i 580 (59, p 0t

H AT g9 ddlsd e BH) i 5 o9k b5

PART A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes cach sentence.

Then mark the answer on your auswer sheet.

1-  Living close to a lake means we have an --------—-- supply of water.
1) inherent 2) abundant 3) inconsistent 4y eclectic

2-  The advertisement for the weight loss pills is very ------—-—- since studies have shown
they’re ineffective,
1) persistent 2) interminable 3) sensitive 4) misleading

3-  The twins hated to be apart, so they bought houses in ¢close ---—------ to each other.
1) pertinence 2) proximity 3) acquaintance 4) scrutiny

4-  With few new jobs created, the economy has remained --------—- for the past five yvears.
1) conservative 2) unfeasible 3) stagnant 4) impassive

3~  Two days after the flood, fortunately the scawater finally began to —----—-- from our
housc,
1) recede 2) sceede 3) proceed 4) intereede

6- The buosiness nsed only to make bicyeles, but they've now ——-——- a range of other
eveling products,
1) diversilicd into 2) emerged [rom 3) reverled to 4) stemmed [rom

7-  The audience clearly loved the play—the ——--—--—- was deafening. So it’s not surprising
that it got glowing reviews,
1) merit 2) rivalry 3) applausc 4) benediction

8-  Experienced lditarod ronners tried to ---------- Gary Paulsen from competing in the

grucling Alaska racc, but they were not successful. The writer and his tcam of sled dogs
ncarly perished during the race,
1) clicit 2) derive 3) snalch 4) dissuadc

9-  The Kalapalo Indians, who live on the savannas of central Brazil, have little -------—- to
change their leisurely lifestyle. They work just several hours a week to provide food,
their only need.
1) disinlerest 2) impetus 3) umpact 4) rigidity

L L hy the rude behavior of the clerk, Ms. Caine reported him to the manager. She
belicves that customers deserve courteous treatment, even when retorning merchandise.
1) Withdrawn 2) Arigen 3) Restricted 4) Incensed
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4} best fits each
space. Then mark the answer an your answer sheet.

While clephants are oflen one ol a #00°s lop atiractions, a new report charges that their
level of care often falls short of star treatment. In a study (11) ---------- this week. the
UK’s Royal Society for the Protection of Cruelty to Animals (RSPCA) said elephants
in European zoos are often unhealthy, (12) ---------- considerable stress, and have a
much shorter life than their counterparts in the wild. 'T'heir condition is frequently even
worse than (13} ----—----—- in Asian timber camps. alleges the RSPCA, (14) ------—--- is
calling for wide-ranging changes in the way (15) -====---- . In the meantime, the group
says, European zoos should stop importing and breeding elephants.

11- 1) rcleased 2) was rcleased 3) 1l is released 4) that rcleascs
12- 1) 1o endure 2) they endure 3) by enduring 4) endure
13- 1) clephants 2) ¢lephants do 3) that of ¢clephants  4) for ¢lephants
14- 1)it 2) which 3) that 4) that it
15- 1) 7zoo elephants are treated 2) in 7oos are treated elephants

3) elephants are treated by in zoo 4) that elephants being treated in zo0s

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3}, or {(4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

‘The basic objective of art is neither to train. to change nor to recommend something. 'The
basic objective of art is to show not to teach. In other words, to present a materialized
image representing the nature of human beings and its place in the universe.

Few have been learned about the nature of art, its function in human lite and its huge
psychological power. Art is a phenomena that is very important for most of people and
that creates a deep personal interest. Art existed in all civilizations including those belore
the written history and accompanicd 10 human beings in cvery sicp.

In simpler words, society may gain its deserved place in the civilized world if art-
dominated culture shapes a socicty with the combination ol philosophy and art. The lifc
anlicipations in such a socicly beal common lincarity. This character becomes he
characicr ol that people.

Onc ol the distinguishing [catures of a work of art is thal it doesn't serve Lo any
practical and material purpose and that it is the objective itself. A work of art doesn't serve
to any objective except creating a pose of thinking and imagining. The pleasure of this
pose is so strong and so personal that man adopts it as a principle that is not a means of
any other purpose and lives like a totally local experience. He gets disturbed when asked
to resolve this pose and usually resist to not fulfill such a request. This suggestion appears
to him like an attack to his deepest personality. But no human feeling can be causeless or



16-

17-

18-

19-

2(}-

irreducible. Nor it can be independent of the source of leelings (and therelore values) or
(rom the needs of human being as a living crcature, Art has an objective and (ulfils a
personal need. But this need covered by art is not a material need but the one felt by the
human conscience.

Art doesn't say anything since art is nothing to do with telling something but 1t deals
with doing something. But we still think that a work of art based on "doing" by man talks
to us either this or that way. Even if art doesn't say anything. we tell many things about it
as recipients we don’t step back from saying anvthing. The reason is the fact that we felt
that the work of art has a meaning and is full of meanings. Thus, we don't suffice with
seeing a beautiful work of art as something addressing 1o our liking or just as a [ormal
conformity but we scck a meaning in the work ol art.

The main purpose of works of art is to -——-—--—--—-

1) say something Lo attract the people’s aLLmlmn by il strong powcer
2) show the nature of man and its place in the universe

3) present the materialized pictures lor human beings

4) teach human te reach his ultimate goals

You can infer from the passage that artist is a/an ---—---------— ;
1) philosopher 2) psvchologist 3) anticipator 4) representative
All of the following, according to the passage are true EXCEPT -----—----—-- 2

1} art covers the human’s needs felt by his conscience

2) art has been integrated in human’s life from the first of history

3) an art-dominated culture affects people to be linear thinkers

4} a lot of people are unconscious of the functions of art in their life

The word “suffice” in the last paragraph can be substituted by -—--—--—--—-,
1) involve 2) predict 3) investigative 4) satisly
It’s inferred from the passage that the evaluation of art -——-—--—-—-,

1) increases the visual literacy in art cducation

2} is imporiant o accept the quality ol the work

3)is restricted o just what is beautilul

4) reveals the truth and creates an cfTort in man [or curiosily

PASSAGE 2:

'The terms 'ethics' and 'morality’ are not always used consistently and precisely in evervday
contexts, and their ordinary meanings do not always correspond with philosophers’ use of
the terms. Ethics is often used in connection with the activities of organizations and with
professional codes of conduct: for instance, medical and business ethics, which are often
formalised in terms of exhaustive sets of rules or guidelines stating how employees are
expected to behave in their workplaces (such as in respect of a duty of care or
confidentiality that health-care workers owe to their patients; or the medical ethical
principles of beneficence, non-maleficence, respect for autonomy, and justice). Morality,
on the other hand, is more often used in connection with the ways in which individuals
conduct their personal, private lives, olicn in relation o personal linancial probity, lawlul
conduet and acceplable standards of interpersonal behavior.

These 'everyday' uses ol the terms ‘cthics’ and ‘morality' arc not so much incorrect by
philosophical standards, as too lmited. The philosopher's interest in the theoretical study
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22-

23-

24-

25-

ol ¢thics is with the idea of conduct that is right, lair and just, docs not cause harm, and
that can be applied 1o a wide varictly of cases. For our purposcs, cach ol the terms ‘cthics'
and 'morality’ captures the essence of that idea sufficiently well. Then, it is not really
necessary to over-emphasise the distinction between ethics and morality; here. those terms
may be used interchangeably to refer to ideas about how humans ought to act.

The main purpose of the passage is to ---—--—---——-- "

1) give some general information about the concepts of ethics and morality

2) compare the philosophical meanings of Ethics and morality with their ordinary one
3) show which one ethics or morality has broader usage

43 prove that ¢thics and morality arc the samc

This passage would be the most interest t0 —--------——-- .
1) experts in occupation 2) typical readers
3) educators 4) business men

All of the following sentences are true EXCEPT —-ceceeeeeeee,

1) ethics and morality relate o right and wrong conduct

2) cthics is a code of conduct set by all businesses and shared among them

3) while ethics and morality sometimes used interchangeably, they are different concepts
4y “Don’t” judge. “Be forgiving™. and “llave patience” are good examples of morality
The word *captures” in paragraph 2 means ------------- X

1) shows 2) controls 3) requires 4) produces

What is the most likely subject of the paragraph following this passage?

1} Areas of ethical study

2) Distinction between ethics and morality

3) Philosophical standards of ethics and morality

4) The idea ol conduct

PASSAGE 3:

Lgoism is the theory that onc's sclil is. or should be, the motivation for all of our actions. It
is worth distinguishing between egoisim as a deseriptive argument (an argument that clls
us how the world actually is) and cgoism as a normative argument (an argument that ¢lls
us how the world ought (o be)., Figoism as a descriptive argument describes human nature
as self-centered. In its strongest form. it argues that individuals only ever act in their own
self-interest. Even where they appear to be acting in others' interests, descriptive egoism
explains that the person is really motivated by their own self-interest disguised by
arguments (rationalizations) of 'doing one's duty' or 'helping others’. In fact, our
motivation behind deing 'good deeds’ may be to make ourselves teel good; to make
ourselves look good in the eves of others: or because we believe that, by helping others,
others will help us. Even if we donate money to charity anonvmously, we may still only
really do this because it makes us feel good about ourselves. In contrast, egoism as a
normative argument tells us that we should be acting in our own interests, as this is the
only way that overall wellare can be improved. 11 evervone acts in their own scll-interest,
then socicty will become more cllicient, which will be in evervone's interest. It is
therelore morally right to pursue onc's own sell-interest.

Onc of the most famous normative cgoisls was Adam Smith, onc of the piongers of
nco-classical cconomic theory. e argued that sell~interested behavior is right il it leads o
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morally acceptable ends. Smith argued that il everyone followed their sell-interest, then
socicly as a whole would be improved. (Importantly, he alse argucd that il cgoism led in
fact to the worsening of society, then it should be abandoned.)

26- According to the passage, descriptive egoism -------------

27-

28-

I') supports duty bound actins not engaging the %el’r-mtereqt of the agents

2) holds that all human actions are both the self-interest and other-centered

3) asserts that people always act in their own interests

4) judges the actions regardless of their cutcomes

Second variant of egoism -----—-------,

1) atfirms that people ought to disguise their motivation with references to helping others
2) stipulates that the agent should promote the self above other values

3) prelers a man belriending others belore belriending himscll

4y attempts o describe human naiure dircetly

Adam Smith belicves that -—--ceaee—- .

1) all scll-interested actions leads Lo betierment of socicty as a whole

2y il cgoistic behavior leads o socicty’s detriment, it ought 1o be stopped

3) the promotion of one’s own interests is always in accordance with human nature
4) the society’s welfare is determined according to its people’s interests

The author’s tone in this passage is ----——---—-—-- ;

|) argumentative 2) supportive 3) enthusiastic 4) neutral
The word “anonymously” in line 11 can be substituted by -------——-—---- .

1) recently 2y unwillingly 3) secretly 4) voluntarily
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